# Periodic and stationary wave solutions of two component Zakharov-Yajima-Oikawa system, using Madelung approach \*

# A. Visinescu<sup>†</sup> D. Grecu<sup>‡</sup>

Department of Theoretical Physics National Institute of Physics and Nuclear Engineering "Horia Hulubei" Bucharest, ROMANIA

#### Abstract

To describe the propagation of three nonlinear pulses in some dispersive material one have to solve simultaneously a set of coupled NLS equations. Using a multiple scales method the interaction between two bright and one dark solitons is studied and an Yajima-Oikawa completely integrable system is obtained. The one-soliton solutions of the corresponding Yajima-Oikawa system are determined using a Madelung fluid description.

PACS: 42.81 Dp, 05.45.Yv MSC2000: 35Q55, 37K10, 45G15

### **Basic** equations

Extending the work of Kivshar [1] for a bright-dark soliton interaction, one considers a multimode optical fiber with three nonlinear dispersive waves in interaction. Suppose that the dispersion relations of these weakly nonlinear waves are  $\omega_i = \omega_i(k_i : |A_1|^2, |A_2|^2, |A_3|^2), \quad i = 1, 2, 3$ 

Let  $e^{i(k_0x-\omega_0t)}$  be a carrier wave.

A Taylor expansion around  $(k_0, \omega_0)$  and  $|A_i| = 0$  of each  $\omega_i$  gives

$$\omega_{i} - \omega_{0} = \left(\frac{\partial \omega_{i}}{\partial k_{i}}\right)_{0} (k_{i} - k_{0}) + \frac{1}{2} \left(\frac{\partial^{2} \omega_{i}}{\partial k_{i}^{2}}\right)_{0} (k_{i} - k_{0})^{2} + \left(\frac{\partial \omega_{i}}{\partial |A_{1}|^{2}}\right)_{0} |A_{1}|^{2} + \left(\frac{\partial \omega_{i}}{\partial |A_{2}|^{2}}\right)_{0} |A_{2}|^{2} + \left(\frac{\partial \omega_{i}}{\partial |A_{3}|^{2}}\right)_{0} |A_{3}|^{2} + \dots$$

$$(1)$$

<sup>\*</sup> Work supported by CNCSIS research project Idei 571/2008

 $<sup>^{\</sup>dagger}$ e-mail address: avisin@theory.nipne.ro

<sup>&</sup>lt;sup>‡</sup> e-mail address:dgrecu@theory.nipne.ro

Replacing  $\omega_i - \omega_0 \simeq -i \frac{\partial}{\partial t}$ ,  $k_i - k_0 \simeq i \frac{\partial}{\partial x}$ , after a translation of coordinate  $(x \to x - \left(\frac{\partial \omega_3}{\partial k_3}\right)_0 t)$ , we obtain a nonlinear system of three interacting waves

$$i\frac{\partial A_{1}}{\partial t} + iV_{1}\frac{\partial A_{1}}{\partial x} + \frac{\alpha_{1}}{2}\frac{\partial^{2}A_{1}}{\partial x^{2}} + \alpha_{2}|A_{1}|^{2}A_{1} + \alpha_{3}|A_{2}|^{2}A_{1} + \alpha_{4}|A_{3}|^{2}A_{1} = 0$$

$$i\frac{\partial A_{2}}{\partial t} + iV_{2}\frac{\partial A_{2}}{\partial x} + \frac{\beta_{1}}{2}\frac{\partial^{2}A_{2}}{\partial x^{2}} + \beta_{2}|A_{1}|^{2}A_{2} + \beta_{3}|A_{2}|^{2}A_{2} + \beta_{4}|A_{3}|^{2}A_{2} = 0$$

$$i\frac{\partial A_{3}}{\partial t} + \frac{\gamma_{1}}{2}\frac{\partial^{2}A_{3}}{\partial x^{2}} + \gamma_{2}|A_{1}|^{2}A_{3} + \gamma_{3}|A_{2}|^{2}A_{3} + \gamma_{4}|A_{3}|^{2}A_{3} = 0,$$
(2)

where  $V_i = \left(\frac{\partial \omega_i}{\partial k_i}\right)_0 - \left(\frac{\partial \omega_3}{\partial k_3}\right)_0$ , i = 1, 2 and the constants  $\alpha_1, \beta_1, \gamma_1$  are related to derivatives of  $\omega_i$  with respect to  $k_i$  ( $\alpha_1 = -\left(\frac{\partial^2 \omega_1}{\partial k_1^2}\right)_0, \ldots$ ) and  $\alpha_2, \ldots \gamma_4$  to the derivatives with respect to  $|A_i|^2 = \left(\alpha_2 = \left(\frac{\partial \omega_1}{\partial |A_1|^2}\right), \ldots\right)$ .

Further on we consider channel 3 normal- and 1 and 2 with anomalous dispersion [1], [2]. Writing

$$A_1 = \Psi_1 e^{i\delta_1 t}, \quad A_2 = \Psi_2 e^{i\delta_2 t}, \quad A_3 = (u_0 + a(x, t))e^{i(\Gamma t + \phi(x, t))}$$
$$\delta_i = -\left(\frac{\partial \omega_i}{\partial |A_3|^2}\right)_0 u_0^2, \quad \Gamma = -\left(\frac{\partial \omega_3}{\partial |A_3|^2}\right)_0 u_0^2.$$

 $(u_0, a \text{ real})$  the system (2) transforms into

$$i\frac{\partial\Psi_{1}}{\partial t} + iV_{1}\frac{\partial\Psi_{1}}{\partial x} + \frac{\alpha_{1}}{2}\frac{\partial^{2}\Psi_{1}}{\partial x^{2}} + (\alpha_{2}|\Psi_{1}|^{2} + \alpha_{3}|\Psi_{2}|^{2})\Psi_{1} + 2\alpha_{4}u_{0}a\Psi_{1} = 0$$

$$i\frac{\partial\Psi_{2}}{\partial t} + iV_{2}\frac{\partial\Psi_{2}}{\partial x} + \frac{\beta_{1}}{2}\frac{\partial^{2}\Psi_{2}}{\partial x^{2}} + (\beta_{2}|\Psi_{1}|^{2} + \beta_{3}|\Psi_{2}|^{2})\Psi_{2} + 2\alpha_{4}u_{0}a\Psi_{2} = 0 (3)$$

$$\frac{\partial^{2}a}{\partial t^{2}} + \gamma_{1}\gamma_{2}u_{0}^{2}\frac{\partial^{2}a}{\partial x^{2}} + \frac{\gamma_{1}^{2}}{4}\frac{\partial^{4}a}{\partial x^{4}} + \frac{\gamma_{1}}{2}\frac{\partial^{2}}{\partial x^{2}}(\gamma_{2}u_{0}|\Psi_{1}|^{2} + \gamma_{3}u_{0}|\Psi_{2}|^{2})$$

$$+ nonlinear terms in (a, \phi) = 0$$

The linear part of the a equation corresponds to an acoustic field with dispersion relation  $(\gamma_1 < 0, \gamma_4 > 0)$ 

$$\omega = ck\sqrt{1 + \frac{\gamma_1^2}{4c^2}k^2} \simeq ck\left(1 + \frac{\gamma_1^2}{8c^2}k^2\right)$$

and phase velocity  $c = \omega/k$ , where  $c^2 = |\gamma_1|\gamma_4 u_0^2$ .

We shall perform a multiple scales analysis of the system (3). We introduce new functions and scaled variables by

$$t \Rightarrow \epsilon t, \quad x \Rightarrow \sqrt{\epsilon}(x - ct), \quad a \Rightarrow \epsilon a, \quad \phi \Rightarrow \epsilon \phi, \quad \Psi_1 \Rightarrow \epsilon^{\frac{3}{4}} \Psi_1, \quad \Psi_2 \Rightarrow \epsilon^{\frac{3}{4}} \Psi_2,$$

In order  $\frac{5}{4}$  in  $\epsilon$  from a equation we obtain

$$c\frac{\partial a}{\partial t} + \frac{\gamma_1}{2} \frac{\partial}{\partial x} \left( \gamma_2 u_0 |\Psi_1|^2 + \gamma_3 u_0 |\Psi_2|^2 \right) = 0. \tag{4}$$

All the nonlinear terms in a equation contribute to higher order in  $\epsilon$ . In order  $\frac{5}{4}$  from  $\Psi_i$  equations we obtain  $V_1 = V_2 = c$ , which represents a long wave-short wave resonance condition [3].

In the next order  $(\frac{7}{4})$  in  $\epsilon$  from the  $\Psi$  equations we get

$$i\frac{\partial\Psi_1}{\partial t} + \frac{\alpha_1}{2}\frac{\partial^2\Psi_1}{\partial x^2} + 2\alpha_4 u_0 a \Psi_1 = 0$$
$$i\frac{\partial\Psi_2}{\partial t} + \frac{\beta_1}{2}\frac{\partial^2\Psi_2}{\partial x^2} + 2\beta_4 u_0 a \Psi_2 = 0$$
 (5)

The equations (4), (5) represent an 1D 2 component Zakharov [4], Yajima-Oikawa [5] system. A similar problem in 2-D was considered in [6].

## Madelung's Approach

The special case of coefficients ( $\alpha_i = \beta_i$ ,  $\gamma_2 = \gamma_3$ ) is integrable [6] and will be considered in what follows. In this case, simplifying the notations we have to study the system

$$\frac{\partial a}{\partial t} + \gamma \frac{\partial}{\partial x} \left( |\Psi_1|^2 + |\Psi_2|^2 \right) = 0$$

$$i \frac{\partial \Psi_i}{\partial t} + \frac{1}{2} \frac{\partial^2 \Psi_i}{\partial x^2} + \beta \Psi_i a = 0, \qquad i = 1, 2.$$
(6)

Following Madelung [7] we consider

$$\Psi_i = \sqrt{\rho_i} e^{i\theta_i}$$
.

Then from the first equation (6) we have

$$\frac{\partial a}{\partial t} + \gamma \frac{\partial}{\partial x} (\rho_1 + \rho_2) = 0 \tag{7}$$

and from the  $\Psi_i$  equations we obtain the continuity equations for the fluid densities  $\rho_i$ 

$$\frac{\partial \rho_i}{\partial t} + \frac{\partial}{\partial x} (v_i \rho_i) = 0, \qquad i = 1, 2$$

$$v_i(x, t) = \frac{\partial \theta_i(x, t)}{\partial x}, \qquad (8)$$

and

$$-\frac{\partial \theta_i}{\partial t} + \frac{1}{2} \frac{1}{\sqrt{\rho_i}} \frac{\partial^2 \sqrt{\rho_i}}{\partial x^2} - \frac{1}{2} \left( \frac{\partial \theta_i}{\partial x} \right)^2 + \beta a = 0.$$
 (9)

Derivating this last ones with respect to x the following equations of motion for the fluid velocities  $v_i$  are obtained

$$\left(\frac{\partial}{\partial t} + v_i \frac{\partial}{\partial x}\right) v_i = \frac{1}{2} \frac{\partial}{\partial x} \left(\frac{1}{\sqrt{\rho_i}} \frac{\partial^2 \sqrt{\rho_i}}{\partial x^2}\right) + \beta \frac{\partial a}{\partial x}.$$
 (10)

Following Fedele [8] the equations (10) can be written as

$$-\rho_{i}\frac{\partial v_{i}}{\partial t} + v_{i}\frac{\partial \rho_{i}}{\partial t} + 2\left[c_{i}(t) - \int \frac{\partial v_{i}}{\partial t} dx\right] \frac{\partial \rho_{i}}{\partial x} + \frac{1}{4}\frac{\partial^{3}\rho_{i}}{\partial x^{3}} + \rho_{i}\frac{\partial}{\partial x}(a\rho_{i}) + 2a\rho_{i}\frac{\partial \rho_{i}}{\partial x} = 0$$
(11)

with  $c_i$  arbitrary integration quantities, eventually dependent on time.

# Motion with constant velocity ( $v_1 = v_2 = v_0$

From the equations of continuity one can see that both  $\rho_1(x,t)$  and  $\rho_2(x,t)$  depend on  $\xi = x - v_0 t$ . We assume that also a(x,t) depends only on  $\xi$ . Denoting  $-E_i = 2c_i - v_0^2$  the equations of motion satisfied by  $\rho_i$  write

$$\frac{1}{4}\frac{d^3\rho_i}{d\xi^3} - E_i \frac{d\rho_i}{d\xi} + 2a \frac{d\rho_i}{d\xi} + \rho_i \frac{da}{d\xi} = 0.$$
 (12)

From the a equation it is easily seen that

$$a = \mu(\rho_1 + \rho_2), \qquad \frac{\gamma}{v_0} = \mu.$$
 (13)

We shall discuss firstly the situation  $E_1 = E_2$ . Then the equations (12) write

$$\frac{1}{4}\frac{d^3\rho_i}{d\xi^3} - E\frac{d\rho_i}{d\xi} + \mu\rho_i \frac{d}{d\xi}(\rho_1 + \rho_2) + 2\mu(\rho_1 + \rho_2)\frac{d\rho_i}{d\xi} = 0$$
 (14)

the same [12], [10] as for the Manakov system [9]. Solutions for Manakov model were studied by many authors ([12], where many other references can be found). In what follows we shall present some solutions of (13) which can be obtained using Madelung approach (for more details see [11], [10].

It is convenient to add the two equations of motion (14); denoting  $z_+ = \rho_1 + \rho_2$   $(\xi \to 2\xi)$  we get

$$\frac{d^3 z_+}{d\xi^3} - E \frac{dz_+}{d\xi} + \frac{3}{2} \mu \frac{d}{d\xi} z_+^2 = 0 \tag{15}$$

Integrating twice one obtains

$$\frac{1}{4} \left( \frac{dz_{+}}{d\xi} \right)^{2} = -\mu z_{+}^{3} + E z_{+}^{2} + A z_{+} + B = P_{3}(z_{+})$$
 (16)

Subtracting the two equations of motion (14) and denoting  $z_{-} = \rho_{1} - \rho_{2}$  we find

$$\frac{1}{4}\frac{d^3z_-}{d\xi^3} - E\frac{dz_-}{d\xi} + \mu z_- \frac{dz_+}{d\xi} + 2\mu z_+ \frac{dz_-}{d\xi} = 0$$
 (17)

a linear differential equation in  $z_{-}$  (once  $z_{+}(\xi)$  is known) A special solution is

$$z_{-} = (p_1^2 - p_2^2)z_{+} p_1^2 + p_2^2 = 1 (18)$$

Then

$$\rho_1 = p_1^2 z_+, \qquad \rho_2 = p_2^2 z_+ \tag{19}$$

For constant velocities the densities  $\rho_i$  have to satisfy additional conditions, namely

$$\frac{1}{2} \frac{1}{\sqrt{\rho_i}} \frac{\partial^2 \sqrt{\rho_i}}{\partial x^2} + \mu z_+(\xi) = \lambda_i, \tag{20}$$

which for the previous solutions (19) becomes

$$\frac{d^2 z_+}{d\xi^2} - \frac{1}{2z_+} \left(\frac{dz_+}{d\xi}\right)^2 + \mu z_+ - \lambda z_+ = 0.$$
 (21)

It can be satisfied if  $\lambda = \frac{E}{2}$  B = 0. Assume  $P_3(z_+)$  has three distinct roots; then

$$P_3(z_+) = -\mu(z_+ - z_1)(z_+ - z_2)(z_+ - z_3) \tag{22}$$

The restriction B = 0 means that one of the roots  $z_2$  or  $z_3$  is 0. We obtained two acceptable periodic solutions

$$z_{1} > 0, \quad z_{2} = 0, \quad z_{3} < 0$$

$$z_{+} = z_{1} \operatorname{cn}^{2} u \qquad (23)$$

$$u = \frac{2\sqrt{\mu}}{g} \xi, \quad k^{2} = \frac{z_{1}}{z_{1} + |z_{3}|}, \quad g = \frac{2}{\sqrt{z_{1} + |z_{3}|}}$$

$$z_{3} = 0, \quad 0 < z_{2} < z_{3}$$

$$z_{+} = z_{1} - (z_{1} - z_{2})\operatorname{sn}^{2} u \qquad (24)$$

$$u = \frac{2\sqrt{\mu}}{g} \xi, \quad k^{2} = \frac{z_{1} - z_{2}}{z_{1}}, \quad g = \frac{2}{\sqrt{z_{1}}}$$

In the degenerate case, when  $k \to 1$  (cn  $u \to \text{sech } u$ , sn  $u \to \text{tanh } u$ ), in both cases we get a bright soliton

$$z_{+} \to z_{1} \frac{1}{\cosh^{2} u} \qquad u = \frac{2\sqrt{\mu}}{g}, \qquad g = \frac{2}{\sqrt{z_{1}}}$$
 (25)

In conclusion, in this case of motion with constant velocities and equal constants  $c_1 = c_2 = c_0$ , the solutions are bright solitons. It is clear that in this case no energy transfer between the two components takes place.

As  $v_i = \frac{d\theta_i}{dx} = v_0$ ,  $\theta_i(x,t) = v_0 x + \gamma_i(t)$  and using (9) the phase is easily calculated; one obtains

$$\theta_i = v_0 x - \left(\frac{1}{2}v_0^2 - \frac{E}{2}\right)t + \delta_i \tag{26}$$

### Motion with stationary-profile current velocity

$$\rho_i(x,t) = \rho(\xi), \quad v_i(x,t) = v_i(\xi), \quad \xi = x - u_0 t$$
(27)

From the equations of continuity

$$v_i = u_0 + \frac{A_i}{\rho_i} \tag{28}$$

As in the previous section we consider  $E_1 = E_2$ . We get the same equations as in the previous section, but without any restriction on the solution. A larger class of periodic solutions can be considered. As an example we consider the case  $0 < z_2 < z_1$  (no restriction on  $z_2$  and  $z_3$ ) when we get

$$z_{+} = z_{1} - (z_{1} - z_{2})\operatorname{sn}^{2} u \tag{29}$$

$$u = \frac{2\sqrt{\mu}}{g}\xi$$
,  $k^2 = \frac{z_1 - z_2}{z_1 - z_3}$ ,  $g = \frac{2}{\sqrt{z_1 - z_2}}$ 

The degenerate case  $\lambda = 1$  is obtained for  $z_2 = z_3 > 0$ , and

$$z_{+} = z_{1} - (z_{1} - z_{2}) \tanh^{2} u \tag{30}$$

corresponding to a bright-type soliton with nonvanishing values at infinity (shifted-bright soliton).

The expression of the phase takes a more complicated form containing incomplete elliptic integral of third kind.

For  $E_1 \neq E_2$  we shall use a direct method for solving the coupled system of equations (i = 1, 2)

$$\frac{1}{4}\frac{d^3\rho_i}{d\xi^3} - E_i \frac{d\rho_i}{d\xi} + 2\gamma(\rho_1 + \rho_2) \frac{d\rho_i}{d\xi} + \gamma\rho_i \frac{d}{d\xi}(\rho_1 + \rho_2) = 0.$$

We seek solutions of the form

$$\rho_i = A_i + B_i \operatorname{sn}^2 u, \quad u = 2\lambda \xi.$$

Details are presented in [10]. In the degenerate case  $(k^2 = 1)$  we get

$$\rho_1 = \frac{4\lambda^2}{\gamma}b(\mu + 2\delta - \tanh^2 u)$$

$$\rho_2 = \frac{4\lambda^2}{\gamma} (1 - b)(\mu - \tanh^2 u),$$

with  $\mu > 1$ , 0 < b < 1, and  $u = 2\lambda \xi$ . They represent shifted-bright solitons.

#### Conclusions

A multiple scales analysis for three wave interaction in a multiple mode optical fiber is performed, assuming that one mode has normal dispersion and the other two anomalous dispersion. If a long wave-short wave interaction takes place a two component Zakharov-Yajima-Oikawa system results. This is analyzed using a Madelung fluid ansatz for the short waves. The resulting system is solved in two cases, namely 1) equal and constant velocities, and 2) motion with stationary profile current velocities. Expressions for the bright solitons in these cases are presented.

#### References

- [1] Y. Kivshar, Optics Lett. 17 1322 (1992)
- [2] Y. Kivshar, G.P. Agrawal, Optical Solitons. From Fibers to Photonic Cristals, Academic Press, San Diego, 2003
- [3] D.J. Benney, Stud. Appl. Math. 56, 81 (1977)
- [4] V.E. Zakharov, Zh. Eksp. Teor. Fiz. 62, 1745 (1972)
- [5] N. Yajima, M. Oikawa, Progr. Theor. Phys., 56, 1719 (1976)
- [6] Y. Ohta, K. Maruno, M. Oikawa, J. Phys. A: Math. Theor. 40 7659 (2007)
- [7] E. Madelung, Zeit. Physik 40 332 (1926)
- [8] R. Fedele, Physica Scripta 65 502 (2002)
- [9] S.V. Manakov, Zh. Eksp. Teor. Fiz. 65 505 (1973)
- [10] D. Grecu, A. Visinescu, R. Fedele, S. DeNicola, Rom. J. Phys. 55 585 (2010)
- [11] A. Visinescu, D. Grecu, R. Fedele, S. DeNicola, *Theor.Math.Phys.* **160** 1066 (2009)
- $[12]\,$  V.S. Gerdjikov, G.G. Grahovski, ar<br/>Xiv:1006.0301v1 [nlin.SI] 2 Jun 2010